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      This position  comes from the 
      Bilboa Blindfold World Cup won by
      Bu Xiangzhi, followed by Karjakin, 
      Carlsen, Judit Polgar, Topalov, 
      Harikrishnan.  In Karjakin-Carlsen 
      how does Black win material?
Last week I reported on the World Junior Championship surprisingly won by Ahmed Adly (Egypt).  A most notable absentee from the event was 19 year old Hikaru Nakamura, a former US champion, who would have started favourite had he played.  Instead Nakamura was competing in events in Europe.  He won the Casino de Barcelona with 7/9 and followed this up by winning the Corsica Masters (10 min + 3 sec per move), topping the preliminary (95 players) with 8/9 and then winning the four round KO, defeating former FIDE world champion Rustam Kasimdzhanov in the final.  Here is a brilliant Nakamura game from the Barcelona tournament with an amazing queen sacrifice followed by a 12 move king hunt against a Polish GM:
                 Krasenkow-Nakamura 
              2007 Casino de Barcelona

                 Reti / Catalan Opening
1.Nf3            Nf6 

2.c4             e6 
3.g3              d5 

4.Bg2          Be7 
5.0-0             0-0 

6.b3             a5 
7.Nc3(a)       c6 

8.d4             Nbd7 
9.Qc2            b6 

10.e4           Ba6 
11.Nd2(b)     c5! 

12.exd5(c)  cxd4
13.Nb5          exd5(d) 

14.Nxd4      Rc8 
15.Re1          b5 

16.Bb2        Re8 
17.Qd1          bxc4 

18.bxc4       Qb6!(e)
19.Rb1          dxc4! 

20.Nc6?(f)  Rxc6 
21.Bxf6?(g) Qxf2+!! 

22.Kxf2(h)  Bc5+
23.Kf3(i)      Rxf6+ 

24.Kg4        Ne5+ 

25.Kg5(j)     Rg6+ 

26.Kh5(k)   f6(l) 
27.Rxe5(m) Rxe5+ 

28.Kh4        Bc8!
White resigns (n) 
a) If.now 7 d4 a4! (8.bxa dxc4).
b) Better is 11.e5 Ne8 12.Ne2.
c) After 12.dxc5 d4! 13.Na4 bxc5 14.e5?! Nxe5 15.Bxa8 Qxa8 Black has excellent compensation for the exchange.
d) 13...Bxb5 is met by 14.dxe6!
e) Not 18…dxc 19.Nc6 while 18...Bxc4 19.Nxc4 Rxc4 gives White the chance to fight back with 20.Nf5 Bc5 21.Qd2!
f) Falling into a deep trap. White should have tried 20.Bc3 Qc5 21.Qa4.)
g) Better 21.Rxe7 Rxe7 22.Bxf6 Nxf6 23.Rxb6 Rxb6, but Black has a clear advantage.

h) After 22.Kh1 Rxf6 23.Ne4 Qa7 Black wins.
i) Alternatives also lose: eg 23.Kf1 c3+ 24.Re2 c2! 

j) 25.Rxe5 is met by 25...Bc8+ and after 25.Kh4 Rh6+ 26.Kg5 Rg6+ 27.Kh5 Bc8! wins.
k) Black also wins after both 26.Kf4 Nd3+ and 26.Kf5 Bc8+ 27.Ke4 Rd6!
l) 26...Bc8! 27.Ne4 Be7 closes the mating net even quicker.
m) If 27.Bd5+ Kh8 28.Kh4 Rh6+ 29.Qh5 g5+ 30.Kh3 Rxh5+ wins.
n) Black mates either after 29.Bf3 Rh6+ 30.Bh5 g5 mate; or after 29.Bd5+ Rxd5 30.g4 Rd3 

31.Qf3 Bf2+! 32.Kh3 Rxg4! 33.Rb8 Rg3+ 34.Kh4 Rh3 mate.
SOLUTION: 1…0-0! attacking the rook, thereby winning the knight. Incidences of castling to win material must be very few.

